Binary Search Trees

Due: April 29th, 2009
1. Show the resultant Binary Search Tree when you insert into an initially empty tree, items with the following keys (in this order):
30, 40, 24, 58, 26, 11, 13, 45, 8, 57, 2
a) Insert 32 and then 15 into the above tree.

b) Delete 30 from the above tree (from part a) and show the resultant tree.

c) Delete 11 from the above tree (from part b) and show the resultant tree.

d) Insert 30 to the above tree (from part c) and show the resultant tree.

e) Write the pre-order traversal and post-order traversal on the resultant tree (from part d).
2. An array contains the elements shown below. Using the binary search algorithm, trace the steps followed to find 88. At each loop iteration, including the last, show the contents of first, last and mid.


8   13   17   26   44   56   88   97

3. Using linear probing, store the keys shown below in an array with 19 elements. How many collisions occurred?

      224562   137456   214562   140145   214576   162145   144467   199645   234534

4. Draw the 11 item hash table that results from using the hash function


h(i) = (2i + 5)  % 11

To hash the keys 12, 44, 13, 88, 23, 94, 11, 39, 20, 16, and 5, assuming collision is handled by chaining.

5. What would be the result of the previous exercise, assuming that collision is handled by double hashing, where q is set to 9?


































